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 ������� t � ��
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�
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� � ��7��������
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!

�
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ns(r, t) =

∫
fs(r, vs, t) dvs, I:�:J

us(r, t) =
1

ns(r, t)

∫
vsfs(r, vs, t) dvs . I:��J

5��
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9 u � ���
�>> �������> ������
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�
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���
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���J@

u =
1

n

∑
s

nsu s, u 0 =
1

ρ

∑
s

ρsu s , I:��J
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� 7'�
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� ρs � ���
�>> 7'�
���
9 ���� ����� ρ
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ρs = msns , ρ =
∑
s

ρs I:�#J

5�
��G���� 7� ����� ���7����
� s �����

Xs =
ρs
ρ
,

∑
s

Xs ≡ 1 I:��J
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psij = ms

∫
vivjfs dv s , ps =

1

3
ρsv2s , p =

∑
s

ps I:�"J
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εs =
ms

2

∫
v2sfs dvs , qs =

ms

2

∫
v2svsfs dvs I:�DJ
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F s = msg + esE + (es/c)[vs ×B] , I:�BJ
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�'�� �� �	
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�
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J s = −Dns
∇ns
ns

−Dps
∇p
p

−DTs
∇T
T

− · · · , I:� J

�
� Dn E Dp E DT ; ���
��
�
�����E ��C<<�8���
� ���8��
��8������ 
�<!
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ws = u s − u 0 I:�:$J
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�'���AE ∑
s

ρsws = 0 I:�::J
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∂fs
∂t

+ v · ∂fs
∂ r

+
F s

ms
· ∂fs
∂ v

=
∂efs
∂t

, I:�:�J

�
� ∂efs/∂t ; 
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5E ������ ������
� �=!

������> <	��8�� ���7��
�'���> fs �=!=� ��G��'��	'>���? �
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 C��'A8�A �� ������� <	��8�� ���7��
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��� �
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4�'� =�7���
9 <	��8�A ���7��
�'���> fs ��� <	��8�A �
 ����
�����?

������
�� ���
�8 vs = v s − u s E 
� 7���=��
��� � I:�:�J �	
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��� �
 ���
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∂fs(vs)

∂t
=
∂fs(vs)

∂t
− ∂fs(vs)

∂vs
· ∂us

∂t
I:�:#J

∂fs(vs)

∂r
=
∂fs(vs)

∂r
− ∂fs(vs)

∂vs
· ∂r
∂t

I:�:�J
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∂fs
∂t

+
∑
h

(vsh + ush)
∂fs
∂xh

−
∑
h

Dsush
Dt

∂fs
∂vsh

−
∑
h

∑
k

vsk
∂ush
∂xk

∂fs
∂vsh

+
∑
h

Fsh

ms

∂fs
∂vsh

=
∂efs
∂t

, I:�:"J
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F���> � 7����G	
�� ������� dt � C'����
����� ��a��� dr , 
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 ��'����	

φ̄ =
1

ns

∫
φfs dv s =

1

ns

∫
φfs dvs I:�:DJ
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∂nsφ̄

∂t
= −

∑
i

∂

∂xi
(nsvsiφ) + ns

{
∂̄φ

∂t
+
∑
i

vsi
∂φ

∂xi
+
∑
i

Fsi

ms

∂φ

∂vsi
+Δφ̄ ,

}

I:�:BJ
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Ds

Dt
(nsφ̄) + nsφ̄

∑
i

∂usi
∂xi

+
∑
i

∂

∂xi
(nsvsiφ) + ns

∑
i

∂φ

∂vsi

Dsusi
Dt

+

+
∑
i

∑
j

nsvsj
∂φ

∂usi

∂usi
∂xj

− ns
ms

∑
i

fsi
∂φ

∂vsi
= nsΔφ̄ . I:�: J
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ψ(1) = 1, ψ(2) = msvs, ψ(3) = εs. I:��$J
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�
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Dns
Dt

+ ns
∂

∂ r
· u s = 0 , I:��:J

	�������� 
��G���>@

∂p

∂ r
− ρs

(
F s

ms
− Du s

Dt

)
= 0 , I:���J
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D3/2nkT

Dt
+

3nkT

2

∂

∂ r
· u +

∂

∂ r
· q + p :

∂

∂ r
· u = 0 . I:���J
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(ps)hk = ms

∫
vshvskfs dvs I:��#J

(ps)hki = ms

∫
vshvskvsifs dvs I:���J

(ps)hkij = ms

∫
vshvskvsivsjfs dvs I:��"J
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ps =
1

3

∑
h

(ps)hh , I:��DJ
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(Ps)hk = (ps)hk − δhk , I:��BJ
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(qs)h =
1

2
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k
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����� 
���E (A����� ���' � ������
����� ��'����� 7����
����? 
�7'�!

��? 7�
����@

rsh =
(qs)h
ps

=
1

2

∑
k(ps)hkk
ps
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M̂0 ≡ ∂

∂t
nsms +

∑
k

∂

∂xk
nsmsusk , I:��:J
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M̂h ≡ ∂

∂t
nsmsush+

∑
k

∂

∂xk
{nsmsushusk+(ps)hk}−nsmsGh−nsesÊsh , I:���J
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M̂hk ≡ ∂

∂t
nsmsushusk +

+
∑
i

∂

∂xi
{nsmsushuskusi + usk(ps)hi + ush(ps)ki + (ps)hki} −

−nsms(uskGh + ushGk)− nses(uskÊsh + ushÊsk)−
− es
msc

{δhij(ps)ki + δkij(ps)hi}Bj , I:���J
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M̂hki ≡ ∂

∂t
{nsmsushuskusi + usi(ps)hk + usk(ps)hi + ush(ps)ki + (ps)hki}+

+
∑
j

∂

∂xj
{nsmsushuskusiusj + usiusj(ps)hk + uskusj(ps)hi +

+ushusj(ps)ki + ushusk(ps)ij + ushusi(ps)kj + uskusi(ps)hj +

+usj(ps)hki + usi(ps)hkj + usk(ps)hij + ush(ps)kij + (ps)hkij} −
−{(As)kiGh + (As)hiGk + (As)hkGi} −
−(es/ms){(As)kiÊsh + (As)hiÊsk + (As)hkÊsi} −
−(es/msc)[{δhmn(ps)km + δkmn(ps)hm}Bnusi +

+{δhmn(ps)im + δimn(ps)hm}Bnusk +

+{δkmn(ps)im + δimn(ps)km}Bnush]−
−(es/msc){δhmn(ps)kim + δkmn(ps)him + δimn(ps)hkm}Bn , I:��#J
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∑
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ush +

∂ps
∂xh
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(
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+
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Q′ −Q =0 Q = ms; I:�#BJ

Q′ −Q =μ(gh − g′h) Q = msvsh; I:�# J

Q′ −Q =μ{Ĉh(gk − g′k) + Ĉk(gh − g′h)}
+ μxst(g

′
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′
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4π

π3/2

∫ ∞
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Σ
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st /Σ
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(1− zst) I:��BJ
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st /Σ
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st /Σ
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∑
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∑
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∑
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∑
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∑
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�� ΔÎzj ≤ 1 7���
������ �
������� 
'> ���? C'����
��� � ��=	'9
�!


�E ���
��� =��>
 
'> C
�? C'����
�� �� ���%��� ���
� ������
����� =���


���'9�� �'�=��� ,
���� 
�������
 7�
��8��'� ����=�8�� ΔÎzj ��=�� ��=!
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9 ñj−2
j � 1 � � C
�� ��'��
� ���
��� =��>
 ���=����
�>

7��
�>���� 7� ��
�	�	� ��!�
���?E 7�� 
��
�G���� ���
��
�
�	AF�� 
��!

7���
	��E ����=�8�> Q!C'��
���� ���=����
�> ��
�� ����G����� � 
����!


����������? 7�����
��?E ��7�����E 7��>�'>>�9 ��� 7���G���� 7���=�
�'>



B"

�
����
�� � 
��
9�?E 7��'� ����=�8�� Q!C'��
����� ��� ��G�
 ������
��!

��
9�> ��� ��'����! �'� ��
���
�7�
�����E � 
���'9�� ���
�� I7� ��
�	�	

5�'�8�J 
��
����
 ����
����� 7��
�'�E �� ������� 7�'���	 =��>
	�

)= ��'�� 
>G�'�? ����� �����'9%�� ��
���� 7��
�
��'>�
 G�'�=�� �'>

���� ����=�8�> Q!C'��
����� ����F� �� 
��
����
�> � 	�'���>? 5�'�8��

5	F��
�	�
 �����'9�� ����� ����G����� ���9�� 7�� ����=�8�� :"!���
��

����=�������� G�'�=� I z = 10 E 
� ��
9 ��� 7�
���� ^RJE ��
���� 7��>�'>�
�>

7�?�G�� ����=��� H�=��8� ���
��
 � 
��E �
� 
���� �7����G	
������ ��!

�9�� �'���� ����G��E � 
��G� � 
��E =� ��� 7��
�'��� ����=�8�> �� ��?�!


�
 �� 7��
�'9��� 	�����9E � 7��
�'G��
 7��
�7���� �����
�
9E ���'������

����=�8�� {!C'��
����� 	 ������

��� ������
����� ����=�8�� � ��
��? 5�'�8� �'�
	�
 ���
9 � ��
	 ��=!

��8	 
��7���
	���? ���
���
�� � ��='����? ��'��
>?� � ����? ���%��?

��'��
>? ������
����� =��� ���
���
 
��7���
	�� ����� � ����=�8�> 7��!

��?�
�
 ����9 ���
�� 
'> ���? C'����
��� � �
����
������� I��������J ���
�

������
����� =��� ���
���
 
��7���
	�� ����
 7��
� 7��
�>���� =�������E


� ��
9 (d lg T/d lg ρ)S = 2/3 � � ��'��
� '	���
��� 7������� ��G� ������
��!

��� =��� ���
���
 �
�����
�> �F� ���9%�E � ?��������� 7�
��8��' C'��!


����� ��G�
 	���9%�
9�> � �'	������ 4�'� ����=�8�> ����F����> I��� 	

C'����
�� ��	77� VO^RJE � C
�? ��'��
>? �
�7��9 ����=�8�� ��G�
 
�G�

	����
9 � �'	����� I��'� �� 	��
���
9 =��������
9 ��	
������ �
�
��
���!

���� �	��� �
 
��7���
	�� � 7'�
���
�J� ��� ������F����� ����=�8�� I���

	 G�'�=� � ������>J �
�7��9 ����=�8�� ���
�
 � �'	�����E �
���� ��
'�����E

��� � ������
����� =����

�'> �8���� ������
� 
�<<	=������� ���G
���> ��G�� �
��
�
9E �
�

7�'��> ����=�8�> 
'> V^W 7����?�
�
 ��	
�� ������
����� =���E 
'> ^R ;

�	
9 �'	�G� ��������> ������
����� =���� -����'�� ��G��� 
'> �����
��



BD

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
0

2

4

6

8

10

12

14

16

18

20

22

r/R�

z̄ j

 

 
O
C
Ne
N
Si
Fe

H��� #�#� H��7��
�'���� ���
���� =��>
� C'����
�� 7� ��
�	�	 � ��
�'�

������������ 5�'�8�� ���
���'9��> %
��?7	��
����> '���> ���=�����


�����8	 ������
����� =����


�<<	=�� >�'>�
�> ��'����� =��>
� � '	���
�� =���E � 
'> 	��=����? ��
�!

��? ����� C
� ��'����� 7��
� ����� =��>
	 >
�� j � �'> ������> � G�'�=�

C
� �� 
��E 7����� �? ���
��� =��>
 7��
�7���� ���
�
 � �'	����� I���� #�#J�

�A��7�
��� ���������
9A ����=�8�� ������> >�'>�
�> 
�E �
� ��� Q!���9��

7���
����
�> 7���
������ 7� ���� '	���
�� =���E 
�� � �� �	
	�� 7���
�'��


� ������ 8��
���

H�����
��� ��=��G��� <�=������� ��?���=�� �'�>��> ����=�8�� 
>!

G�'�? C'����
�� �� ������
9 
�<<	=������� ���G
���>� ������ C<<��
E �

	��
�� ��
����� �� 7����
�� ��%� �����'���>E ���
��
 � 
��E �
� ������
9

����
�<<	=������� ���G
���> =�����
 �
 =��>
� I����= ������� �
�'�����!

��� � �=����
���
��� � C'��
������ 7�'��J� � 
���
��
�'9���
�E =�����!

���
9 �'�G��>E �� 	��=����> 7��7��8����'9���
9 >�'>�
�> 
������	AF���



BB

� ��=	'9
�
�E ������
� ���G
���> � ��G
�� 
���� 
�'G�� ������
���
9!

�> � 	��
�� =��>
� ���� � 
����? 	�'���>?� ��7�'��
�'9��� 	7��F�����

>�'>�
�> ��7�'9=������ 7���'�G���> ���
���� =��>
� � 7�
�
������ C
��

��'����� � <���	'� 
'> �8���� ������
�� (�'�� 7����'9��� ��'� �� ��!

���'���� ������
�� ���G
���> 
'> ��G
��� ���� � �

�'9���
�E � =�
�� ��!

?�G
���� ���
��� ������
� 7� ���� ����� 
������ C'����
�� 6���� 7�
?�


��' 7������� � M�"N� ,
���� ������
��� ��
�'�������� 
�<<	=�� C'����!


��E ���8��
��8�> ��
���? ��=�� ���>�
�> �� �����8�? ����=�8��E ��>=��� �

��'9%��� 
�	
���
>��� 5'�
	�
 	���
9 
��G�E �
� C
� �����8� �� 7��
�>�!

��E � ���F�A
�> � 
������� �������� 5 	��
�� ���������
�� ���7��
�'���>

7� ���
�>��>� ����=�8�� �����E �7�������� ��%�E �� 7�'�����E �
� �%����

7���'�G���> ���3
��	 ���93� �� 7����%��
 �����'9��? 7��8��
�� ��'������

�
���� <�=������� C<<��
 ���
����� ����=�8�� ��>=�� � ��'����� ���!


���
� �
�7��� ����=�8�� 7� ��
�	�	� *�=������� ��
��G���� 
������ C<!

<��
� �'�=�� � >�'���A ����7�'>���� 
�<<	=��� (�'�� 
����E C
�
 C<<��


��=�����
 �=!=� ��'���> ���
���
� ���8��
��8�� C'��
�����E � �� �

�'9��?

������ ���
���
 ?���������� 7�
��8��'� C'��
����� ��
�
 � 
�<<	=�����!

�	 7�
��	 C'��
�����E ��
���� 	�'����
 =� ����� ���� ���
��
�
�	AF��� =�!

�>
�� ,
���� � ������
�������� ���� =�
��� ��F�� ��'����
�� C'��
�����

�7��
�'>�
�> ���������E 7��
� 7�'���
9A ����=�������� ���7����
��� ;

��
���
�� � ��'���E 7�C
��	 ���
���
 C'��
������ ���8��
��8��E ��=���!

���E ��7�����E ���
���
�� =��>
� G�'�=�E ���'A��
�'9�� ��'� ����� 
���E


'> �����'�� ��G��� ��'��
� ; '	���
�� =��� ; ���
���
� =��>
� �����

�������� ��'�E ��� ��'�
�
��� ��'��� ���
���
� 
��7���
	��E 
�� � ��'�
!

�
��� ���������
�� ����=�8��E �7������? ��%��

,7������� C<<��
 ���
���
� =��>
� ��'9=> 	���
9 � 7���F9A ������
!

����> 
�<<	=�� �

�'9��? ����� ��� ��=�������? ���
�8� ���
���
 ���!



B 

8��
��8�� �

�'9���� ���� zj ��G�
 ��
9 ���9�� ����� I� ��'��
� ���
���

����=�8��J � �� �� �	
�
 ���7��������
9�> ���
���
�� ���� zj +1 E ��� �'�!


	�
 �= 	�'���> ��?������> ��F��� ���'� ������

6��
�� C<<��
 ; C
� �'�>��� 
�<<	=������� 7�
��� �� ���
�>��� ����!

=�8������� ���������>� ��	���� �'�����E ����=�8������ ���������� 7��
!

7�'����
E �
� ��'����
�� ����=�8�� � ������ zj 	�������%����
�> ��'���!

�
��� ���������8�� ����� zj + 1 E �= ���� ��?�
>
�> ���
��
�
�	AF�� ���!

8��
��8�� nzj � nz+1
j � 4�'� �	F��
�	A
 ���%��� 7�
��� ����� ��='����?

�
�7���� ����=�8��E 
� 	�������� ��'���� 	G� �� �	
�
 ��7�'�>
9�>� � ��!

=	'9
�
� �
�8�������� ���8��
��8�� �
����>
�> 
�	����� /
� � �'�
	�
 ���!

���
����
9 ��� 
�<<	=������ ���F���� ����=�8�����? ����������� ,
����

�=!=� ���9�� ��'�� ������
� 
�<<	=�� � 	�'���>? 5�'�8� �� 
��G� ����!

���	�� C
�
 C<<��
 � ��%�? �����
�?� ������ 7���'�G���� ��G�� ��=��
9

7���'�G����� � =�����G������� ���
�>��> ����=�8��E ; � 7��
7�'�G����E

�
� ����=�8������ ���8��
��8�� � ��G
�� 
���� ��
�'� �� =����>
 �
 
���E

��
9 �'� ��
 
�<<	=������ 7�
�� 'A���� ��
��

3�
���
�� C<<��
 ���
��
 � �=������� ������> �
�'�������� I��
����'�

�
�'��������J � 	��
�� �
�'��������E ��
	F�? � ����=�8��� ��	���� �'�!

����E 7����� 	7�	��? �
�'��������E ����?�
��� 	���
9 ��	7�	��� I�����!

����8������JE � 
��G� 
��?���
����� � 
�� 
�'��� ��
���
������� ��
�'�


'> 	��
� 
������ C<<��
� ��
��	 ���=���
���

-�����8E ��G�� ��=��
9 7>
�� C<<��
E ��
	F�� � �=������A ������
�


�<<	=��� ������� ����� �	G�� ������
����
9 ��� 7������ ���
�8 � ��	
!

������ C�������E 
�7�'��
�'9��� � ����
�������� �7�'�� ��=��G��E �
� 
�!

��� 7������ ��	
������ C������ I� 7��'�
	AF�� �� ������G
����� � ����8��

����=�8��J ��G�
 ����
� �	F��
������ ��'�
 � 
�7'���� �'��� � 	�������!

>? (A������ I��� �'��	 :JE � 7��'�>
9 �� �8���	 ������
� 
����
�<<	=���



 $

OMDM ���
������ ��������

OMDMAM X??��� 
������ � � ??
� ����� "������ M ���

������
����� 
�<<	=�� 
>G�'�? C'����
��E >�'>AF�?�> ��'�� 7�����9A

�� <��� �������? ���7����
��E ��
���
� � ��'�>E ��=�����
 C<<��
 	�'�!

����> 
����� 7������ ��������� 
�<<	=������� 7�
������ /
�
 C<<��


��G�� ���� 7��
�
���
9 ��� ������
��� 
���
��� 
�<<	=������� ���G
���>

7������ �� <��� ��
���
� � �
��� �
�����E � �� <��� ��'�> � 
�	���� �

7����� �'	��� C<<��
 	�'�����> ��
���
�� �	
�
 ��7���'�� ����?E 
� ��
9

������
9 ���G
���> C'����
� � ���
��� 8��
�� ���� �
�����
�> ���9%�E ���

7�� �
�	
�
��� 
�<<	=������� 7�
��� ������ ��
���
�� �� �
���� �'	��� ;

�������
E ��'�� 	�'����
 C'����
 =� ������

3��'����� �8���� 7���=���A
E �
� C<<��
 	�'�����> ��'��� ��'9���E

��� C<<��
 	�'�����> ��
���
��� /
� ��G�� ��a>���
9 ��'�� C<<��
�����

7���
���� ��7	'9�� 7�� �
�'�������>? � ��'���E 
�� ��� ����� 
>G�'�? C'�!

���
�� �'�G� � ��'�AE ��� � ����� 7��
���� 6���� ����=��E C<<��
 	�'�!

����> 	��'������
 ������
9 ���G
���> C'����
��� -� ���� #�"O#�B 7��
�
��!

'��� 
�<<	=������ 7�
��� ���G
���> 
>G�'�? C'����
�� � ��
�'�����

C<<��
�� 	�'�����>E 
����! � ����
�<<	=�� �

�'9���

OMDMBM 
� �� � ���� ���!  �� ���  �� �������� � ??
�  M

����'��� 	��
� ���
����� ����=�8�� 7�� �����'���� ������
� 
�<<	=��

� ��F�� �'	��� ���9�� �'�G��� ��%� ��'� 7������'��� ��=��G��� ��?�!

��=�� �=�����'�>��> 7��8����� ����=�8�� � 
�<<	=��� � ����? �����
�?

�� ��������'��9 '�%9 �'����� ��?���=���E ��>=����� � 
��E �
� ���
����

����=������� ��� ����
 �
���	A ����	 Ai E �
���� ��� =��>
 zi ��G�
 � ��

��
9 ����� �
�����	 �����	 i �

�'> �����'���> ���
���� =��>
� ���� � ���
�>��� ���
����� ����=�8��



 :

��7�'9=���'��9 ���7��
�'���> 7� ������ ���
�>��>�E �����'����� ��� 
�!

7�'����> � 
��'�8�� 	�������> ���
�>��> [\]\![ IM� NJ� � ��=	'9
�
�E �

'A��� 
����E 7����
'�G�F�� 7'�����
� T−ρ E � ��'��
�E 7���������� 	���!

������ ���
�>��>E ��� �=���
�� ���7��
�'���> ���8��
��8�� ����� 
�? C'�!

���
��E ��
���� 	��
���'��9 � �����
�? 	�������> ���
�>��>� 6����� C'�!

���
��� >�'>A
�> I7����� ��
���
� � ��'�>J VE ^E WE ^RE [_E R̀E 
'> ��
���?

��'� ��7�'���� ��%� �8���� ������
� 
�<<	=��� � �����
�? ��7�'9=���'�>


�'9�� ���
��� =��>
 
'> 
������ ���� z̄i(r) �

� ��7�'9=������� �?��� �����
�� =��>
 ���� ��
�����
�> � 
�	? ���
�?�

��!7����?E � ����G���� 
'> ��'� �� �
����� C'��
��������� 7�'> E E ��!


���> 7��7��8����'9�� =��>
	 ����� ����
��� C
�� ��'� �7�'�� ���'������

��'� 
>G��
�E � � 	��
�� 	�'���� ��?������> ����� � =��>
� ��G�� 7���!

=�
9E �
� C
� ��'� I
'> 
�<<	=�� 
>G�'�? ����� �� <��� '����?J 
���
�	�


� 7��
���7�'�G�	A �
����	� 6���� ����=��E 
����> ��'� =���
'>�
 ���G
�!

��� 
>G�'�? C'����
��E � � 	���9%����� =��>
� ��� �
�����
�> ���9%�E 
�

��
9 ���G
���� 	����>�
�>� ��!�
���?E =��>
 �?�
�
 � ������� �
�'��������

����E ��
���� 7��7��8����'9�� ���
��
	 =��>
� z2i � �����'9�	 ��C<<�8�!

��
 ��7��
��'���> Kst � 	���9%����� =��>
� �
�����
�> ���9%�E 
� ���G
�!

��� C'����
�� 	����>�
�>� -����
�> �� ��'�� ��'9�	A =��������
9 �
 =��>
�E

�'�>��� ��C<<�8���
� ��7��
��'���> �� ������
9 ���G
���> �� �
�'9 =��!

��
�'9��E ��� 7������ C<<��
� ����
������ C'��
��������� 7�'>� .���E �
�

��� �� �� ���>'�> =��>
E 
'��� �����
���� 7������ ��� ����� ��
���
�> ��!

������E 
� ��
9 ���
�8� �	
�
 ��7�
���
9 �
�'�������> � 
��>
9 ��7	'9�E

��7���'����� ���=�

� ����
� M: N 	��
���'��9 �
'���� �����? ���
�>��� �
 7�'��� ����!

=�8��E � ���
���
�E 
'> G�'�=�� ,
���� 7�� C
�� =��>
 ���� 7������'�>

7��
�>���� 7� ��
�	�	E � ������ 7������� =��>
	 ����� G�'�=� � 8��
��



 �

5�'�8�� �� ��7�'9=���'� ���
��� =��>
 ����E �����'����� � ��G
�� 
����

� ���
��
�
��� � 
������ ���%�������� 	�������> ���
�>��> � 
��7���
	!

���� � 7'�
���
>��E �=>
��� �= ��
�'� ������������ 5�'�8� \[e D�:!$$$:�

0 0.2 0.4 0.6 0.8 1
−1

−0.8

−0.6

−0.4

−0.2

0
x 10

−8

r/RSun

w
,c

m
s−

1

 

 

H��� #��� ��<<	=�����> ������
9 w 
'> ���'���
� � G�'�=� I7	��
�� �

�7'�%��> '���> ���
��
�
�����J 7�� 	��
� I
����� '����J � ��= 	��
�

I
�'�
�� '����J ���
����� ����=�8�� C'����
��� ���
���'9��>

7	��
����> '���> ���=�����
 �����8	 ������
����� =����

H�=	'9
�
� 7���=��� �� ���� #��E �
� 
�<<	=������ ������
� 
'> G�'�=�

� ���'���
� 7���=��� ��� <	��8�� ��
�	�� ��
�'� 5�'�8�� �'> ���'���!


� C
� 7�7����� �� ��'���E �
� ��>=��� � 
��E �
� ���'���
 7��
� 
��
����


7�'��� ����=�8�� I
�����E ���
�>��> �� ���
��� =��>
��E �'�=��� � 6 J 	G�

� ������
����� =���� � ��'�� �'	����? �'�>? ��� =��>
 7��
� �� ���>�
�>E



 �


� ��
9 ��F�� �
'���� �
 7��
7�'�G���> � 7�'��� ����=�8�� ��=����
�'9���

�'> G�'�=� C
�
 C<<��
 =����
�'9�� ��'�� ����G��� +��>
 G�'�=� 	 
��

������
����� =��� ���'� 14 E � � 8��
�� C
�
 =��>
 7���'�G��
�> � 21 E 
�

��
9 �
'����
�> �
 26 � ����� 
���E � 'A��? �'�>? � ��
��? 5�'�8� �	F�!

�
�	�
 ���
���
 =��>
� ����� G�'�=�E 
� ��
9 �
�7��9 ����=�8�� ���
�
 �


��7���
	����

� ��=	'9
�
�E C<<��
 ��7�'��� ����=�8�� 
'> G�'�=� � �
��%���� �����!

�
� 
�<<	=�� ����
 �
����
�'9��� ?����
�� ; ��=��8� � ������
>? ��'9%�


��E �
� �������'9�� ���� ������
�� ��� ���	G
�'��9 � M"$NE ���� 
�<!

<	=�����> ������
9 �7��
�'>�
�> ����
�<<	=��� �E 
�� �����E 7��<�'��

	�������> ��'� 
>G��
� � ��
�'�� 3
� ��7'�?� ���'��	�
�> � 7�'	�������

�8������ 
'> G�'�=�� �'> 7�'	����> �=������> ��
��G���> C'����
� ��


�'G�� ���7�'9=���
9�> 	��������� ����=������
� 
'> 
������ ���7����!


��

OMDMDM 
� �� � "�����  ��
��� � �� � ??
� ����� ���'��� �

S��������M ���G
� ��� ������
��
9 ��=	'9
�
� �����
�� ������
� 
�<!

<	=�� � 	��
�� �=����
���
��> � 7�'�� �='	����>E ������
��� <�=�����	A

��
�'9 
������ 7��8����� � ��
��? =��=
� ��F��
�� ��?�
�
�> � 7�'� �='	!

����>E 7������>F�� 7�
�� C������ �= ��
� � 7����?���
�� � 
� G� ����>E �

'A��� 
���� 7��
7�'����
�> ��7�'����� �6HE �
� �=�����
 �=����
���
���

7�'> �='	����> � ���
�8 ��F��
�� � �
������	A 
��7���
	�	 �='	����> �

��F��
��� ��=
���
��� 
����� 7�
��� �='	����> �� 7��8���� 7������� � ��=�

�7�'�� ���'������ C<<��
	 
����
�<<	=��� ��� �'���������� 
����
�<!

<	=�� 7�
�� 
�7'�E 7���������� ��'��	'>���� 
�7'�7����
���
9AE �'�>�


�� ������
9 7������� ��7	'9�� � 
�<<	=�����? 7�
���?� -����'�� ���'>
!

�� C
� ����G��
�> � 	�������>? '������� ������������� 
����
�������E



 #

���
�E �'�
	> M":NE ��G�� =�7���
9 7�
�� 
�7'� � ��
�

Jq = −κ∇T − Lq1A(ni, μi)∇n1 I#��J

I�� �7	����� 7�'��� ����G���� 
'> A J� & 
'> 7�
��� ��F��
�� 
��
� �7��!

��
'���

J1 = −L1q

T 2
∇T −D11∇n1 , I#��J

7����� Lq1 = L1q ��� ����G���� 7���8�7� �=������
� ,�=������ � ��%��

�'	��� 
��G� '������ 7��
7�'�G�
9E �
� � ����G���� 
'> 
�<<	=������

������
� 
�'G�� 7���	
�
����
9 �'��E ��>=����� � 7�
���� 
�7'�E 7�����!

����� �='	������� -����'�� 7���
� ���
��
 
�'� � ��F�� ��=
���
���� 7�!


��� �='	����> �� ����	 ��F��
�� � 8�'��� �'> 
���E �
��� �8���
9 
����

C<<��
 <�
�'���
�8��E 
��
�
���� ���7���
9 	�������� ��
���
�
��������

���������> � ��
�

∇Pgas +∇Prad = g ρ . I#�#J

5'������� � '���� ���
� ∇Prad �7������
 �7�
a���	A ��'	� �� �
�����

�='	����>E 
���
�	AF	A �� C'����
 ��F��
��� ,
��
��E �
� ����������>

��
�'9 �
���
�> �� ��������� 7�'���� 
��'���>E � 
����� C<<��
 	G� ���!

=����
�> 	�
����� 7�� 7��
������ ��
�'��

.���E �
� 7�
����� C<<��
 ��=�����
 �=!=� ��=��8� 
��7���
	� �='	��!

��> �� �����8�? ������
��������� ��a���E 
� ��
9 �=!=� ���
���
� 
��7���!


	��� 6�� G� >���E �
� ��'� <�
�'���
�8�� �� =�����
 �
 ��7��=������
�

I7�� ��7�'����� �6HJE � �7��
�'>�
�> ���
���
�� 
��7���
	��� -�����8E

7�7����� �� ��'���� 7�'> �='	����> ��G�
 ��
9 ����G��� ��� 7�7����� �

��'����� 	�������> ��'� 
>G��
� � 7�C
��	 ��=����
�> ���
���� ���	��8



���

� ��%�� �'	��� ����?�
��� =��
9 ���
��
�
�	AF�� '	���
�� 	�����!

��> 7� �
��%���A � �

�'9���	 ���7����
	 ����� grads � �����'���� '	!



 �

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
−0.9

−0.8

−0.7

−0.6

−0.5

−0.4

−0.3

−0.2

−0.1

0

0.1

r/R�

w
C
,
1
0
−
8
cm

s−
1

 

 

Baro−diffusion
Thermo−diffusion
Concentration diffusion
Helium drag
Photodiffusion
Total velocity

C

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
−0.9

−0.8

−0.7

−0.6

−0.5

−0.4

−0.3

−0.2

−0.1

0

0.1

r/R�

w
N
,
1
0
−
8
cm

s−
1

 

 

Baro−diffusion
Thermo−diffusion
Concentration diffusion
Helium drag
Photodiffusion
Total velocity

N

H��� #�"� ��'�
 ��='����? <��
���� � ������
9 
�<<	=�� 	�'���
� �

�=�
�� �
��?7	��
����� '����� ���=������ �����8� ������
����� =����

H����
� 7����
��� 
'> ������������ 5�'�8��



 "

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
−0.9

−0.8

−0.7

−0.6

−0.5

−0.4

−0.3

−0.2

−0.1

0

0.1

r/R�

w
O
,
1
0
−
8
cm

s−
1

 

 

Baro−diffusion
Thermo−diffusion
Concentration diffusion
Helium drag
Photodiffusion
Total velocity

O

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
−0.9

−0.8

−0.7

−0.6

−0.5

−0.4

−0.3

−0.2

−0.1

0

0.1

r/R�

w
N
e
,
1
0
−
8
cm

s−
1

 

 

Baro−diffusion
Thermo−diffusion
Concentration diffusion
Helium drag
Photodiffusion
Total velocity

Ne

H��� #�D� ��'�
 ��='����? <��
���� � ������
9 
�<<	=�� ���'���
� �

������ �
��?7	��
����� '����� ���=������ �����8� ������
����� =����

H����
� 7����
��� 
'> ������������ 5�'�8��



 D

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
−0.9

−0.8

−0.7

−0.6

−0.5

−0.4

−0.3

−0.2

−0.1

0

0.1

r/R�

w
S
i,

1
0
−
8
cm

s−
1

 

 

Baro−diffusion
Thermo−diffusion
Concentration diffusion
Helium drag
Photodiffusion
Total velocity

Si

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
−0.9

−0.8

−0.7

−0.6

−0.5

−0.4

−0.3

−0.2

−0.1

0

0.1

r/R�

w
F
e
,
1
0
−
8
cm

s−
1

 

 

Baro−diffusion
Thermo−diffusion
Concentration diffusion
Helium drag
Photodiffusion
Total velocity

Fe

H��� #�B� ��'�
 ��='����? <��
���� � ������
9 
�<<	=�� ������> �

G�'�=�� �
��?7	��
����� '����� ���=������ �����8� ������
����� =����

H����
� 7����
��� 
'> ������������ 5�'�8��



 B

���
�? 	�������� C�����'��
�� �����'���A 7��8��'9���� ��C<<�8���
�

��7��=������
� κs/κ E 
� ��
9 
�'� C������E 7��'�F����� ��F��
��� �'�!

��
��> �=����
���
��A <�
���� � ������
��� ���
�� ����� �� ��7�'9=���!

'� ��=	'9
�
� M"�N � M"�NE �
�	
� ��C<<�8���
� '	���
��� 	�������> ��'�

�=>
�� 5�'�E 
���
�	AF�> �� ���9 C'����
E �7��
�'>�
�> ���
���
�� '	��!

�
��� 
��'���> ∇Prad E � �� ���
9E 
���
�	AF�> �� �
�� ���7����
E �����

(κs/κ)∇Prad � � 	�������� 
'> ��7	'9�� 
����'>�
�> ������8�> � 	�����!

��A ��'� 
>G��
�E � '	���
�� 	�������� ���=����
�> 	���G����� �� ρ/ρs �

��� �	���������� 	�������� 7������� ��7	'9�� 7� ���� 
�7�� ���
�8E ��!

F�� C<<��
 � 	�������� ��
���
�
�������� ���������> ���=����
�> ������

���
���
	 '	���
��� 
��'���>�

� ��%�� ����
� �� ������
������ C
�
 C<<��
 
�'9�� 
'> 
>G�'�? C'�!

���
��� ,
��
�� 
��G�E �
� � ������
����� =��� 	7��>�	
�� C<<��
 
�'!

G�� �����'>
9�> � 	��
�� 
�'� '	���
��� 7������� � ��F�� 7�
��� C������E


� ��
9 �� 7��7��8����'�� ��'����� Frad/Ftot = ∇/∇rad I=
��9 ∇ �=�����


'�����<�������� ���
���
 
��7���
	�� 7� 
��'���AJE ��
���> ���9%� �
�!

��8�E ����
� ����9 =����
�'9�� I��7�����E �� ���%��? ���
>? ������
�����

=���J� ��	��� 	7��F����� >�'>�
�> ������������� 
�7'����� 7�
���E 7���!

�������� 
�<<	=��� � 7��8���� 7��'�F���> 7�
��� '	���
�� C������� /
�


C<<��
 �7�'�� ���'������ ��'��	'>���� 
�7'�7����
���
� � �'����������


����
�<<	=�� � ����G��
�> � 	�������>? 7������� ��7	'9�� � C������ �

��
� �'���� rt � 2�
>E ������ �����E 
'> ������
��������� �'	��> ��'�? 7��!

����� 
���� C<<��
 ��'E �
���� �� ��� �� ���=�
9 �'�>��� �� ������
�	A

�8���	 ������
� 
����
�<<	=��� -� ���� #� 7����
��� �
��%���> '	��!

�
�? 	�������� � 	�������A ��'� 
>G��
� 
'> 
>G�'�? C'����
�� �
�'9


����? 7� ��
�'� 5�'�8�� 6�
 <��
E �
� '	���
�� 	�������� 
'> G�'�=� 7�!

�
� �� 7��>
�� ��'9%�E ��� 
'> ���'���
�E �
��G��
 �
��%���� ��
��G����



  

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
−4

−3.5

−3

−2.5

−2

−1.5

−1

−0.5

0

r/R�

lg
(g

ra
d
/
g
)

 

 

O
C
Ne
N
Si
Fe

H��� #� � ,
��%���� '	���
��� 	�������> � 	�������A �����
���� 7�
���> �

��
�'� ������������ 5�'�8� 
'> %��
� 
>G�'�? C'����
���

�
��?!7	��
����� '����� ���=������ �����8� ������
����� =����

���7����
��E ?�
> ��'�
 ���
���� ����=�������� G�'�=� � ��F	A ��7��!

=������
9 
��G� ��'9%�E ��� 
'> ���'���
�� 5 7���G����� 
��7���
	��

�'�>��� '	���
��� 	�������> ���
�
E 7����'9�	 ���
�
 ��'�
 7��'�F���> �

'���>?� ,
���� >���E �
� ��F�� C<<��
 7��'�F���> �� �'�%��� =����
�'��

� �����������
�> ������	� 
��>
9AO
��
8�
9A 7��8��
��� 7� �
��%���A

� 	�������A ��'� 
>G��
� 
'> G�'�=�E ��7������ /
� =����
E �
� ������
9

���G
���> G�'�=� �	
�
 �� ≤ 20% ���9%�E ��� ��= 	��
� 
����� C<<��
��

OMDMOM ������� � ??
�   "��? � �����'�� � ��'���P

S��������M H����
� 7���=���A
E �
� 
�G� 
'> C'����
�� VE ^E WE ����=�!

8�> ��
���? �'�=�� � 7�'���E 	��
 =��>
� ��
�
 � �=������A 
�<<	=������

������
�E ?�
> � �� ����'9%	A ��'����	� �'> ���
���� ����=������? ���7�!



:$$

���
�� I R̀ � [_J �=������� ������
� ���G
���> ?�
> � ��'9%�E ��� 
'> 7�'��!

�
9A ����=������?E �� �� � 
�� �
�7���E � ��
���� �=���>�
�> δZ = Zi− z̄i �

6� ��
9 
'> G�'�=� δZ ≈ 5 E � 
'> 	�'���
� δZ ≈ 0.1 E 
��
� ��� �=����!

��> ������
� ���G
���> �
'���A
�> �� ��'��E ��� � 
��>
9 ��=� � 'A���

�'	���E 	��
 ��7�'��� ����=�8�� C'����
� 	����>�
 ��� ���G
���� � 8��
�	�

�����'9�	 
�7��9 7�>��'��9 ����> =��������
9 ������
� ���G
���> �
 δZ E

��
���> ���� 7� ���� ���
�
 � ���
�� �
������ ������ C'����
�E 
� ������
9

���G
���> 
'> 
>G�'�? C'����
�� ���
�
 � �
����� �������E 7����� C
�


���
 �7�'�� =���
����

�'> �''A�
��8�� 
������ ����
� 7���=��� ��'����� ���G
���> 
'> ���?

���'�
������? C'����
�� �= ������
����� =��� I���� #�:$J � 
����'���� ��!


��G���> � 8��
�� I���� #�::J =� ����> C��'A8�� 5�'�8� � ��='����? 7��!

�'�G���>?�

)
������ 7��<�'� ��
��G���> 
>G�'�? C'����
�� � ����������� 5�'�!

8� 7���=��� �� ���� #�:�O#�:#� �����
��� ��=	'9
�
� �����
�� � 
��? ��='��!

��? 7���'�G���>?@ �J 7�'��> ����=�8�> C'����
��Z �J 7���'�G���� ���
����

=��>
� � ��G
�� 
���� 7� ��
�	�	E ��= 	��
� <�
�
�<<	=��Z �J 7���'�G�!

��� ���
���� =��>
� � ��G
�� 
���� 7� ��
�	�	E � 	��
�� <�
�
�<<	=���

-���'9��� ��
��G���� 7� ����� 
'> ��G
��� 
>G�'��� C'����
� 7�'���'��9

������ $�$� ; 
'> 	
���
�� ��������> ��=	'9
�
���

/<<��
 <�
�
�<<	=��E �'� �=����
���
��> � 7�
���� �='	����>E

	���9%��
 C<<��
 ����
�<<	=������� ���G
���> 
>G�'�? C'����
��E �

�������� =����
�'�� 
'> ���
���� ����=������? C'����
��� �
�'��9 ��
�!

'�
9 
�� �����
�E �� �
�������? � 
�	��? ���'�
�����>?� /<<��
 <�
�
�<!

<	=�� �����'>�
�> �� ��������� '	���
��� 7�
��� C������� /
� =����
E �
�

� 8��
��'9��? ��'��
>? 5�'�8� 
�'G�� 	��
���
9�> =��������
9 
��	F��

���
����
� Lr �
 ��
�	��E 7�� 
��E �
� ���
����
9 =
��9 Lr < L� E � � ���!



:$:

5 10 15 20 25

−2.6

−2.4

−2.2

−2

x 10
−3

j

Δ
X

C
Z

j

H��� #�:$� )=������� �������� 
�'� 
>G�'�? C'����
�� 5E ^E WE ^RE [_ � R̀

� ������
����� =��� ΔXCZ
j =� ����> C��'A8�� 5�'�8�� �� ��� ���8���

�
'�G�� 7��>
����� ����� C'����
��� ��	G�� ���
��
�
�	A
 ��'������

ΔXCZ
j E ������
����� 7�� z = j � ��= 	��
� <�
�
�<<	=��E ���
��
��� ;

��'������E ������
����� 7�� z = z̄j(r) � ��= 	��
� <�
�
�<<	=��E

������� ; ��'������E ������
����� 7�� z = z̄j(r) � � 	��
��

<�
�
�<<	=��� -���'9��� ��
��G���� ��G
��� C'����
� 7�'���'��9

������ $�$��

���
����� =��� ; 
�
 <��
E �
� '	���
�� 7�
�� �	F��
����� ���9%� 7�'��!

��� /<<��
 <�
�
�<<	=�� ���=�'�> �� ����9 =����
�'9���� �������'�� ��


'> G�'�=�E � ��G�
 7�����
� � 	���9%���A C<<��
������ 	�������> ���!

��
���� 7�
���> 7��
� �� �$L � �

�'9��? ��'��
>?� �'> ��
�'9��? C'����!



:$�

5 10 15 20 25
8

8.5

9

9.5

10
x 10

−4

j

Δ
X

j
(r

=
0)

H��� #�::� )=������� �������� 
�'� 
>G�'�? C'����
�� 5E ^E WE ^RE [_E R̀ �

8��
�� 5�'�8� ΔXj(r = 0) =� ����> C��'A8�� 5�'�8�� �� ��� ���8���

�
'�G�� 7��>
����� ����� C'����
��� ��	G�� ���
��
�
�	A
 ��'������

ΔXj(r = 0) E ������
����� 7�� z = j � ��= 	��
� <�
�
�<<	=��E

���
��
��� ; ��'������E ������
����� 7�� z = z̄j(r) � ��= 	��
�

<�
�
�<<	=��E ������� ; ��'������E ������
����� 7�� z = z̄j(r) � �

	��
�� <�
�
�<<	=��� -���'9��� ��
��G���� ��G
��� C'����
�

7�'���'��9 ������ $�$��


�� �� �F� ���9%�� 5	F��
����'� 7��
7�'�G���>E �
� <�
�C<<��
 ��G�


���=�
9�> ����9 ��'9��� � ������
����� =���E 7����
> � 7�'��� ����7����!

8��� ��'� 
>G��
� 
'> �

�'9��? ���7����
��� ,
���� � ��%�? �����
�?E

� 	��
�� 
�'� C������E 7���������� ������8���E ������ 7�
������ �� ����!



:$�

0 0.2 0.4 0.6 0.8 1
0,017

0,018

0,019

0,020

0,021

r/R�

X
C

 

 

z = z
max

z = z(r)
z = z(r), photodiffusion
Initial value
Convective zone boundary

C

0 0.2 0.4 0.6 0.8 1
0.017

0.018

0.019

0.02

0.021

r/R�

X
N

 

 

z = z
max

z = z(r)
z = z(r), photodiffusion
Initial value
Convective zone boundary

N

H��� #�:�� ���<�'� 	�'���
� � �=�
� � ����������� 5�'�8�E ������
����� �


��? 7���'�G���>?@ �J 7�'��> ����=�8�> C'����
�� I%
��?7	��
����>

'���>JZ �J 7���'�G���� ���
���� =��>
� � ��G
�� 
���� 7� ��
�	�	E ��=

	��
� <�
�
�<<	=�� I%
��?���> '���>JZ �J 7���'�G���� ���
���� =��>
� �

��G
�� 
���� 7� ��
�	�	E � 	��
�� <�
�
�<<	=�� I�7'�%��> '���>J�



:$#

0 0.2 0.4 0.6 0.8 1
0.017

0.018

0.019

0.02

0.021

r/R�

X
O

 

 

z = z
max

z = z(r)
z = z(r), photodiffusion
Initial value
Convective zone boundary

O

0 0.2 0.4 0.6 0.8 1
0.017

0.018

0.019

0.02

0.021

r/R�

X
N
e

 

 

z = z
max

z = z(r)
z = z(r), photodiffusion
Initial value
Convective zone boundary

Ne

H��� #�:�� ���<�'� ���'���
� � ����� � ����������� 5�'�8�E ������
�����

� 
��? 7���'�G���>?@ �J 7�'��> ����=�8�> C'����
�� I%
��?7	��
����>

'���>JZ �J 7���'�G���� ���
���� =��>
� � ��G
�� 
���� 7� ��
�	�	E ��=

	��
� <�
�
�<<	=�� I%
��?���> '���>JZ �J 7���'�G���� ���
���� =��>
� �

��G
�� 
���� 7� ��
�	�	E � 	��
�� <�
�
�<<	=�� I�7'�%��> '���>J�



:$�

0 0.2 0.4 0.6 0.8 1
0.017

0.018

0.019

0.02

0.021

r/R�

X
S
i

 

 

z = z
max

z = z(r)
z = z(r), photodiffusion
Initial value
Convective zone boundary

Si

0 0.2 0.4 0.6 0.8 1
0.017

0.018

0.019

0.02

0.021

r/R�

X
F
e

 

 

z = z
max

z = z(r)
z = z(r), photodiffusion
Initial value
Convective zone boundary

Fe

H��� #�:#� ���<�'� ������> � G�'�=� � ����������� 5�'�8�E ������
�����

� 
��? 7���'�G���>?@ �J 7�'��> ����=�8�> C'����
�� I%
��?7	��
����>

'���>JZ �J 7���'�G���� ���
���� =��>
� � ��G
�� 
���� 7� ��
�	�	E ��=

	��
� <�
�
�<<	=�� I%
��?���> '���>JZ �J 7���'�G���� ���
���� =��>
� �

��G
�� 
���� 7� ��
�	�	E � 	��
�� <�
�
�<<	=�� I�7'�%��> '���>J�



:$"

�	G����
�>�

H����
� 7���=���A
 �
����
�'9�	A �
���'9���
9 ��
��G���> 
>G�'�?

C'����
�� � ?�
� C��'A8�� 5�'�8� I���� #�:�JE � 
��G� 7�������� ������
��

�
����
�'9���� �=������> ��
��G���> � ������
����� =��� 
>G�'�? C'����!


�� � ��'�>�

0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
−12

−10

−8

−6

−4

−2

0

r/R�

(Δ
X
)/
X

×
1
0
0

 

 

He
C
N
O
Ne
Si
Fe

H��� #�:�� ,��G
���� 
>G�'�? C'����
�� � ��'�> �= ������
����� =���

5�'�8� �� �����
 t = 4.6 �'�
 '�
 � 7��8��
�? � �? ����'9���	

��
��G���A� H����
� 
'> 
>G�'�? C'����
�� 7����
��� � 7���'�G����

���
���� =��>
� � ��G
�� 
���� 7� ��
�	�	 � � 	��
�� <�
�
�<<	=���

,��G
���� 
>G�'�? C'����
�� � ������
����� =��� �� 7����%��


�����'9��? 7��8��
��E 
� ��
9 7�������G��� ��'� 7� ��������A � ��=��G!

��� �%����� �7��
�'���> �? ��
��G���>� �����'9�	 � 7��8���� �����'���>

��
�'� �� ��
��G���� 
>G�'�? C'����
�� �� ���'�
����
�> ��
�'9��? �'�

C��'A8�����? �����������E 
� �=������> � 
���? 7��
�'�? ���	
 ��
9 �
��!

���� ��� � ����'9���	E 
�� � � �����������	 ��
��G���AE ��= 7���8�7��'9!



:$D

��? �=������� � �
�	�
	�� ��
�'��� 4
���
������ ��
�'9��� �����������

�� ��
��G���� 
>G�'�? C'����
�� ��>=��� � 
����� =�������� ��7��=���!

���
� 	 ��������> ������
����� =��� � 7�'�G����� �����8� ������8�� �

����������� 5�'�8�� ,
���� 7��
������ 7�'��� ��
�'� � ��7��=������
>��E

=����>F��� �
 ��
��G���> ��G
��� 
>G�'��� C'����
�E 7��� �� 7��
�
��'>!

�
�> ��=��G���� ��'	������ � 
����� ����
� 7�7����� �� �
����
�'9���

��
��G���� 
>G�'�? ���7����
�� �� 7��
�������
 �������� 7�����
���

�
��
��
��� ��'������ ��
�'��

OMDMCM ���
������ ��
Q P �������M � 
��'�8� #�: 7����
��� ��!

'����� ���G
���> 
>G�'�? C'����
�� �= ������
����� =���E 7�'	������

��=���� ��
������

6��'�8� #�:

����9%���� ��
��G���> 
>G�'�? C'����
�� I7� �����J � ������
�����

=��� 5�'�8� 7� ��=	'9
�
�� ��=��? ��
���� 7�� ����'9��� ��
��G����

Z0 ≈ 0.02

&�
�� ΔZ

bghRT [ :  " M��N $�$$:�D

zos_�E [wRkpgk :  D M�DN $�$$:D 

}UokE YoUP�!Vu_RsRE bgURT :  B M�BN $�$$:�#

YoUPgllRE X_PumUhE b_Pumoh Rl mT� :  B M�"N $�$$:D$

[PuTmllT �$$� M�#N $�$$: $

\ro�gvE }mloU_kE �$:: M#�N $�$$:"�

OMDMEM ������� ����"��� � ��'���P S�������� "�� ������� �(

��! ����!M -� ���� #�:�O#�:# 7��
�
��'>�
 ��
���� ��'��
9 7�
 ������!


����� =����E 
�����
���	AF�> '���'9��� ������	� ��
��G���> 
>G�'�?



:$B

C'����
��� ,�a>�����> ��=���������> C
�� ��'��
� ��
�� � '�
���
	�� ��

��
����'�

6���> ��'��
9 ����=	�
�> �=!=� 
���E �
� =
��9 7����?�
�
 7���?�
 �


�
����
�'9�� ���
���� 
�<<	=������� ���G
���> C'����
� � �
����
�'9��

��
'�����	E 
� ��
9 �	��� 
�<<	=�����? 7�
���� �� ���%��� � ��	
���!

��� �����8�? ��'��
� =���
�� �
'���� �
 �	'>� /
� �'�
	�
 � �= 	�������>


�<<	=��E � 7����� ���
� ��
����� ������
9 
�<<	=�� �
��
 7�
 ���
�!

��
��� -� ���<���? ������
�� 
�<<	=�� I���� #�"O#�BJ ��G�� �����	G�
9E

�
� �����'9%�� ���
���
 7�
 ������
����� =���� ����
 ���7����
 ������
�E

��=������ 
����
�<<	=����

� ���A �����
9E ������
9 
����
�<<	=�� 7��7��8����'9�� ���
���
	


��7���
	��� ��C
��	 '������ 7��
7�'�G�
9E �
� ��'��
9 '���'9���� ���!

���	�� 
>G�'�? C'����
�� ��>=��� � 7���
����� ���
���
� 
��7���
	�� 7�


������
����� =����� �'> 7�

���G
���> C
��� 7��
7�'�G���> ��' 7����
��

���'����� C��7������
 I��� ���� #�:"J ; ��'� �����'��� ���G
���� ���'�!

��
� � 7��
7�'�G����E �
� 
����
�<<	=�> �
�	
�
�	�
� � �
��� ��' 7�'	���

7��<�'9 ��
��G���> ���'���
�E � ��
���� '���'9��� ������	� 7�
 ������!


����� =���� �
�	
�
����'� -� C
�� G� ���<��� 7���=�� ���
���
 
��7���
	!

��� ����� =���
�
9E �
� ��'��
9 ����7'���> 
>G�'�? C'����
�� ���7�
��
 �

��'��
9AE � ��
���� �
���> 7���=��
��> 
��7���
	�� ���>�
�> �
 �����	��

I��7����
�
����� 7�
 ������
����� =����J 
� �	'> I� 
���� r ≈ 0.63 J�

OMDMTM % ��!����� ���'��� � ��'���P S��������  � ������(

� ���! ���� "� ���������
 �����'�� $M ��� 7���=����
 7��
�
	!

F�� �='�G����E 
�<<	=�> ; 7��8��� ����9 ��
'�����E � �� C<<��
 =� ���

����> G�=�� 5�'�8� ���
��'>�
 7��>
�� :$L �
 ��?�
���� ��
��G���> C'�!

���
��� &�
�� 7����' ����A �����
�� C��'A8�� ���'���
�E � ��
���? X0

���9�����'��9 �
 $�$� 
� 2×10−5 E � 8�'9A �7��
�'�
9E ��� =�����
 �
������



:$ 

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
0.0175

0.018

0.0185

0.019

0.0195

0.02

0.0205

0.021

0.0215

r/R�

X
O

 

 

d
T
/d
r,

K
/c
m

−6

−5

−4

−3

−2

−1

0
x 10

−4

H��� #�:"� ��=���������� ��'��
� =���
'����� 
�<<	=�� 7�
 ������
�����

=����� ����=��� 7��<�'� ��
��G���> ���'���
�E 7�'	������ 7��

�
��
��
��� 
���
���� 
�<<	=�� I�7'�%��> '���>J � ��= 	��
�


����
�<<	=�� I%
��?���> '���>J� �	��
���� 7���=�� ���
���



��7���
	��� ���
���'9��> %
��?!7	��
����> '���> ���=�����


7�'�G���� ������
����� =����

I�� �����
 t = 4.6 �'�
 '�
J ��
��G���� ������
���� C'����
� X � ������!


����� =��� �
 ��� ����'9���� ��
��G���> X0 � ��'	���%�>�> =��������
9

7�=��'>�
 	
���G
�
9E �
� 
�<<	=������ ���G
���� 
>G�'�? C'����
�� '�!

����� 7� ����'9��� 	�'���>��



::$

−4 −3 −2
−3

−2

−1

0 

lgX0

lg
(−

Δ
X
/
(Δ

X
) X

0
=
0
.0
2)

 

 

O 

H��� #�:D� +��������
9 �����
��� ��'����� ���G
���> ���'���
� �
 ���

����'9���� ��
��G���> X0 � �� ��� ��
���
 �
'�G�� '�����<� �
��%���>

��'����� ���G
���> ���'���
� �= ������
����� =��� � 
���� G� ��'�����E

7�'	������ 7�� ����'9��� ��
��G���� X0 = 0.02 �



:::

L��%YI��	�

� ������ ����������? ��
�
�� ��%���> =�
��� 
�<<	=�� �� =��=
�? '�!

G�
 ����
������� 	�������� (�'98����� ��� C
�� ��7�'9=	�
�> 7��
7�'�G�!

���E �
� ��
����' �
�'��������E �?�
>F�� � 7���	A ���
9 C
��� 	�������>E

�7������
 
�'9�� 
�	?���
����� 	7�	��� ��	
�����>�

����?�
 �
 ����
�������� � 
����
�����������	 �7�����A 7��8����� �

��=�? ��=��G�� ��='������ 7	
>��� ��C
 M:$N ��7�'9=���' ��='�G���� <	��!

8�� ���7��
�'���> � �>
 7� ��
�����'9��� 
��=����� 7�'������ �
 ���!

���
�� ���
�8� (A����� M::N 7������' 
�� ��=������� ��
�
 �����
�� ;

����
�	 	�������> (�'98���� � ��='������ �
�7��>�� ����
�����? �����!

�
�� ���
�8�

)= 	�������� (A������ �'�
	�
E �
� ������
9 
�<<	=�� =�����
 �
 ��!

'���> � ���
� ���
���
�� ���8��
��8�� ���7����
�� ��=���� ����� I���8��!


��8�����> 
�<<	=�>JE ���
���
� 
��7���
	�� I
����
�<<	=�>J � ���
�!

��
� 
��'���> I����
�<<	=�>J� (���
�<<	=�> �
����
�> 7������
�
9 ��'��


>G�'�� ���
�8� � ��'��
� � ��'9%�� 
��'������ /
�
 C<<��
 ���
� ��=�!

��A
 �����
�8������ ���G
�����E 
�� ��� ���
���
 
��'���> �� =��=
�?

��=����
�> ���������
�8��� ��F��
�� =��=
�� +��� C<<��
� 
����
�<<	!

=�� =�����
 �
 =�����E 7� ��
����	 �=����
���
�	A
 ���
�8� ������ �'>

�	'�������? �
�'�������� 
����
�<<	=�> 7����
�
 � 7�����F���A ��'��


>G�'�? ���
�8 � ��'�� ���>��� ��'��
��

���8��
��8�����> 
�<<	=�> �
����
�> 	���9%�
9 ���AF���> � =��=!


� ���
���
� ��
��G���> ?��������? C'����
��E �� 
���
���E ��� 7����'�E

7��
���7�'�G�� 
���
��A ����! � 
����
�<<	=���

)
�� C��'A8�� ?���������� ���
��� =��=
� ; �=������� ��
��G���> ?�!

�������? C'����
�� � �? ���7��
�'���> 7� ��
�	�	 =� ����> �� G�=��� ,�

�7��
�'>�
�> ������
��� 
���
���� >
����? ����8�� � 
�<<	=�����? ��!



::�

?���=����

�� �
���� �'��� �7���� ��
�
 7��
��
�'9��? �����
�� C��'A8�� ?���!

������� ���
���E ���'�=������� ��
����� ����� ����
����� �����
�� ��
�


7��
��=����� 
'> ���'�=� ��?���=��� 
�<<	=��E �? ��'�
� � 
�<<	=���!

��� 7�
��� ��='����? C'����
��E � 
��G� 
'> 7������� ��='����? ��
�
��

�����
� 
�<<	=���

)�?�
���� 
������ 
'> �����
�� >�'>A
�>@ ����� =��=
�Z �� ��
�	�E

���
����
9 � 7�'�G���� �����8� ������
����� =��� ��� <	��8�� �������Z


��7���
	�� T E 
��'���� p � 7'�
���
9 ρ ��� <	��8�� ������� � ����
�!

>��> �
 8��
�� =��=
�� ����� 
���E ����?�
��� =�
�
9 ?��������� ���
��

=��=
� Xi(r, 0) � ����'9��� �����
 ������� t = 0 E �
� Xi(r, t) ; �������>


�'> ���7����
� i � ��F��
�� =��=
��

��� ����?�
���� ��?�
��� 
����� �=�'���A
�> �= C��'A8������ 7��'�!


���
�'9���
� ��
�'�� =��=
�E 7��
������� � ��=	'9
�
� ����
� ��������!

�� C��'A8������� ��
�� 6���� ����=�� <�����	�
�> �
�	�
	�� =��=
� � ��

�=������� �� �������� +���
��E �
� �
���������� � =�
��	 7������>
�> 
�!

7	F���>E ��7�'9=������� � C��'A8������ ��
� ; �<��������> �����
��>

=��=
�E �
�	
�
��� ���F���> � �����
���� 7�'>�

+�
�� �������
�> ��a��
 ���'�
�����> ; ?��������� ���
�� ��'������

7'�=��� � 7���
��%�� �'	��� �� 7��
�
��'>�
 ����� ����9 7��
����E >
��

��'�> � C'��
������ � ��'�� �'�G��? �'	��>? � C
�� �������� ���7����
��


����'>A
�> ���� 
>G�'�? C'����
���

5���
����� 7��
��
�'9��� �����
 =��'A���
�> � ��%���� ���
��� 	���!

����� C��'A8�� ?���������� ���
��� �� =�
����� <������������ �
�	�
	��

=��=
�@

∂Xi

∂t
= − 1

ρr2
∂(r2ρwiXi)

∂r
+

(
∂Xi

∂t

)
NR

. I#��J

� ��F�� �'	��� �����
 ��'A���
 � ���> >
����� ����8�� I�'������� �



::�

��
����� NR �7����J � 
�<<	=�AE ������
9 ��
���� wi 
'> ��G
��� ���!

7����
� ����� � ��7	
�
�	AF�� ���
��� ����
���
 =�7������
�> � ��
� �'�!


	AF�� �	���@ wi = αid ln p/dr+βid lnT/dr+
∑

k γikd lnXk/dr. ��C<<�8�!

��
� αi E βi � γik =����>
 �� 
�'9�� �
 ����
���
� r � ������� t E �� � �


Xi(r, t) E �
� 
�'��
 	�������� C��'A8�� ?���������� ���
��� ��'��������

-����'�� ���7���
��������� � ���
�>F�� ����> ��
�
��� �7��
�'���>

��C<<�8���
�� � ����G���� 
'> ������
� 
�<<	=�� >�'>A
�> �77�����!

��8������ <���	'� ��%� � ���<� M:BN � �?��� (���'�!6�	' M: N ��%���>

	�������� (A������ M::N 
'> ����� ����=������? ��=��� � 7��
��
�'9��?

�����
�? ��
��� ��=��G�� ��7�'9=���
9 'A��� �= C
�? ��
�
�� � =�������!

�
� �
 7��
��'����� =�
����

�
���� ��
�
E � �
'���� �
 7������E 
���	�
 ��%���> � ��G
�� 
���� (r, t)

���
��� 2N + 2 '������? 	��������E �
� N ; ��'����
�� ���7����
�� �

������ H�=	'9
�
�� G� >�'>�
�> ��'�� 
����� 
����
�<<	=������ ��C<<�!

8���
 βi � ��=��G���
9 	��
� �=������� �'�>��> 
�<<	=�����? 7�
����

��=��? ���7����
�� I��C<<�8���
� γik E k 
= i J�

� �'��� 7���=���E ��� ��G�� � �?��	 (���'�!6�	' ��
���
9 �=����
��!

�
��� C'����
�� � 7�
���� �='	����>E �
��� 	���
9 C<<��
 
� �� <�
�
�<!

<	=�� ; �=������> ������
� 
�<<	=������� 
���<� ��'�
�
��� �=����
��!

�
��> ���7����
�� ����� P 7�
���� �='	����>�

,���	A 7���'��	 � ��%����� =�
��� 7��
�
��'>�
 
���
���� ������
��!

��� =���E ��
���> �� 5�'�8� 7���
����
�> �
 ≈ 0.7R� 
� <�
��<����

� C
�? 7��
�'�? 7����?�
�
 ��
����� 7�����%������ ��F��
��E �
� ��!


�
 � ���
���	 �����������A ?���������� ���
���� 2����
����� ����> ���!

���8�� ����
 ��'����	 7��>
�� $�:O: ��
�E �
� �� :$O:: 7��>
��� ���9%�E

��� ?����
����� ����> 
�<<	=�� � 	�'���>? 5�'�8�� /
�
 <��
 7�=��'>�


��� 7�� ��%���� =�
��� 3
44��
	

	5 C��'A8�� �� �
���
9�> � 7�
�����!



::#

�
� <�=�������� ��?���=�� ������8�� ; ��G�� 7���>
9 =� 
�����
9E �
� �

������
����� =��� 'A��> ��=����AF�> ���
����
���
9 ?���������� ���
���

��������� ����������
�>�

�����8� ������
����� =���E �7��
�'>���> ���
����� ����8%�'9
�

∇T = ∇Tad E >�'>�
�> 
����� ��=���� �
���� 7���=��
��� 
��7���
	�� 7�

��
�	�	� +
��9 G� 7��8��� ��
'������ 
�<<	=������� 7������7��
�'���>

��F��
�� ����������=�� ����>�
�> 7��8����� ���
���� ������
������ 7���!

��%�����>� �����8� ������
����� =��� �� �
�8�������E � �������? ����
�!

��
�? ��� ���F��
�> � 
������� ������� 7� ��7���'���A � ���%��� �'�>�

5�'�8�� 6��� ����� ������
����� =��� 7��
�7���� 	���9%��
�>� &��'����!

�� 
��	E ��� C
� ��'� �
�'��� � M�"NE � 	�������> C��'A8�� ?����������

���
��� �����8� ������
����� =��� ���
�
�> ����= ��=������ ��C<<�8�!

��
 ���8��
��8������ 
�<<	=�� γii 7�� ���
���
� ��
��G���>� ��� ��'��
�

������
������ 7�����%�����> C
�
 ��C<<�8���
 �7��
�'>�
�> <���	'���

��%�!���<� �'� (���'�!6�	'E � � ������
����� =��� �� 	��'������
�> �� "O

B 7��>
���� 6���� 7�
?�
 7����
�
 � �
����
���
� ��
��G���> ?��������?

C'����
�� 7� ���� ������
����� =���E �
� C�����'��
�� ��=	'9
�
	 
���
��>

������8���

� 
��
9�� �'��� �7������
�> 
�<<	=�> �������? ���7����
�� ��'������

7'�=�� ; ��
���
� � ��'�>�

�����
��� ��=	'9
�
� 7��
��
�'9��? �����
�� C��'A8�� ?����������

���
��� 5�'�8� �
 �����
� ��?�
� �� �'���	A 7��'�
���
�'9���
9 
� ��=!

���
� #�" �'�
 '�
� H����
� 7����
�'��9 
'> 7'�=��E ���
�>F�� �= �����

H+ E He2+ � C'��
������ ���
7�'���'��9E �
� ����'9��� ?��������� ���
��

>�'>�
�> �=���
��� � =�
�� � ��?�
��� C��'A8������ ��
�'� � �
� 
>G�'��

C'����
� �� �'�>A
 �� C��'A8�A ��
��G���> ��
���
� � ��'�>� � 
���� �'	!

��� =�
��� ��G�
 ��
9 ��%��� 
'> �
���� C'����
�E ��
���
�E � C��'A8�>



::�

��
��G���> ��'�> �7��
�'>�
�> �= ���
��%���>
∑

iXi(r, t) = 1 �

��'	����E �
� ��'���� � ��
��? 5�'�8� ��'9��? ���
���
�� 
��'���>

� 
��7���
	�� 7����
�
 � 
���<	 ��
���
� �
 8��
�� � ���%��� ��'��
>�

� 7��
���7�'�G�� ��7���'�����	 
���<	 ��'�>� ��� �'�
�
���E ��=����A



�� C<<��
�� ��!7����?E ��
��G���� ��'�> � ������
����� =��� 	���9%��
!

�> �� ��������E � =� #�" �'�
 '�
 ��� �
�����
�> ���9%� �� ��'����	 ≈ 0.03

�������� 
�'�� ��!�
���?E � >
�� 5�'�8�E �
� ��
���
 7�������
����
�> �

��'�� � ����8�>? 7��
��!7��
������ 8��'�E 
�<<	=������ 
���< ��
���
�


��G� 	���9%��
 ��
��G���� C
��� C'����
�� � ��=	'9
�
� 
�<<	=�� �����!

7���� ��
���
� � >
�� 7����?�
�
 ���
���E � �����
��� ����> G�=�� 5�'�8�

�� �'����� 7��'�
���
�'9���
� �����F��
�> �� ≈ 0.71 �'�
� '�
�

��'����� ���G
���> ��'�> �= ������
����� =���E 7�'	������ � 7��
!

��
�'9��� �����
� � ��?�
��� C��'A8������ ��
�'�E ��?�
>
�> � ?���%��

���'����E �
� ����<�8��	�
 ��
�
 7��
��
�'9��? �����
�� � 7�

���G
��



��
�������
9 7�'	�����? � ��� 7���F9A ��=	'9
�
���

�����
��� ��=	'9
�
� ���'����? C��7������
��E � ��
���? �����8�

������
����� =��� ���F�'��9 �
����
�'9�� �� 7�'�G���> � ��
�'9��!

C��'A8������ �����
� �� ��'����� −0.1R� � −0.05R� I
��� C<<��
 ����!

%	
����J� H����
��� ��
��G���� ��'�> � ������
����� =��� 7�� C
�� �� ��!

���
 #�" �'�
 '�
 	��'�����'��9 ���
��
�
����� �� $�$:� � $�$$D ��������


�'��

3�
���
�> �'��� �7������
 
�<<	=�A 
>G�'�? C'����
��� � ��'������

7'�=�� 
>G�'�� C'����
� >�'>A
�> ��'�� 7�����9A I
� � L 7� �����J �

����� ��
���
� � ��'�>� � 
� G� ����>E ��� ����>
 �7��
�'>AF�� ��'�
 �

��7��=������
9 ��F��
��� ��C
��	 =����� ���7��
�'���> 
>G�'�? C'����!


�� 7� ��
�	�	 5�'�8� ����?�
��� 
'> �����
� 7�'�G���> 
�� ������
�����

=����



::"

�'> �=	����> ������� %��
9 C'����
�� ; WE VE ^E ^RE [_E R̀ ��� �����!

'�� ���'9��� � ����>F�� �����'9%�� ��'�
 � ��7��=������
9� /
� C'����!


�E ��� � ��'��E ��'�
�
��� 
�<<	=�� ���G
�A
�> 7� ��7���'���A � 8��
�	

5�'�8�� 5�����
9 C
��� ���G
���> � 7����� 7���'�G���� 7��7��8����'9!

�� ����� ����� 
������ ?���������� C'����
� � ����
�� 7��7��8����'9��

�? =��>
	� � ��>=� � C
�� ��G�� =��
9E ��� ���>�
�> =��>
 ����� 7� ��
�!

	�	 5�'�8�� H����
 ���7��
�'���> �
�7��� ����=�8�� C'����
�� 7� �'	����

7����
�'�> � ��7�'9=������� 	�������> ���
�>��> [\]\![ M�"N� ,E V � ^

7���
������ 7�'���
9A ����=	A
�> ��	
�� ������
����� =���E � 
� ����>

��� ^RE [_ � R̀ ��?���>A
 ���
9 ����? C'��
����� � ��'�� �'	����? ��'��
>?E


��� ����=����� ���
����� ��'�=� �� ����=����� 7�'���
9A �7'�
9 
� 8��
��

5�'�8�� ����=���E �
� �
��= � �����
�? �
 7���'�G���> 7�'��� ����=�8��


>G�'�? C'����
�� 7����
�
 � 	��'�����A �? ������
�� 
�<<	=���

��<<	=������ 7�
��� 
>G�'�? C'����
�� ����= �
�'�������> �

�'9!

��? ���
�8 �=����
���
�	A
 � 
�<<	=������� 7�
����� ��
���
� � ��'�>

I��
���� ��7���'��� 7��
���7�'�G�� �
�� 
�	���	J� ��'	����E �
� C
�


C<<��
 	��'������
 ������
9 ���G
���> 
>G�'�? C'����
��E ��'�
 ��� ��!

�
��'>�
 
� :$ L�

� >
�� � '	���
�� =��� ����= ��F��
�� 7��?�
�
 7�
�� �='	����>E ��7���!

'����� �= >
�� ���	G	� )='	����� �=����
���
�	�
 � ��F��
��� � 7��7>
!

�
�	�
 
�<<	=������	 ���G
���A 
>G�'�? C'����
��� ����=���E �
� C
�


C<<��
 �������'�� 
'> G�'�=��

�'> 7��<�'�� ��
��G���> ���? 
>G�'�? C'����
�� ?����
���� ��F�>

���������
9 ;'���'9��� ������	� � ��'��
� 7�
 ������
����� =����E � ��!


���� ��
��G���� C'����
� �� 	�����
 �'� 
�G� ���
�
 �� ��������� ��!

��=���E �
� 
����> ���������
9 >�'>�
�> �'�
�
���� 
���E �
� � 
����� ��!

'��
� ���
���
 
��7���
	�� ��=���
��
 7� ��7���'���A �
 8��
�� 5�'�8��



::D

��C
��	 
����
�<<	=�> ����
 =���E 7��
���7�'�G��� ����
�<<	=��E �
�

C<<��
���� =���
'>�
 ���G
���� C'����
�� �= 
����� ��'��
��

57��
�����7�������� ��
�
��� ��'� �����	G��� 7���G����� ��
��G�!

��� ���'���
� �� ���%��? �'�>? 5�'�8� M�:NE � 7� ���
�>F�� ����> C
�
 <��


��
��
�> ����a>�������E � 
�� ���'� � � 7���'������� 
�<<	=�����? ��?�!

��=��� ���G
���> C'����
��� ����'��� =��'A���
�> � 
��E �
� �����������

��
�'� ��	
������� �
�����> 5�'�8� 
���	A
 ��
��G���> 
>G�'�? C'����!


�� 7� ����� Z �� ��	
�����? ��'��
>? �� 	����� $�$�� � 7��
����� �'	���

7���
������ ����=��G�� 7�'	��
9 �����8	 ������
����� =��� �� 
�� ���
�E

�
� ��� ��?�
�
�> 7� 
����� ��'��������'����� H�=	'9
�
�E 7�'	������ �


����� ����
�E 7�

���G
�A
E �
� �=���
��� ��?���=�� 
�<<	=�� �� ���	


7���=�
9 Z � ������
����� =��� �� ≈ 50% E ��
���� ��� 7��
� ��= �=������>

�� ��	
�����? ��'��
>?� 5'�
���
�'9��E ����?�
�� 7���� 
�	��? ��?���=!

���E �7������? ��a>���
9 C
�
 C<<��
�

N��Q�������� M

&�
�� �'���
���� 5����A ��
�'9����	 &A���	E &��� ��'��9���� ,��!

%���� � d�����	 ����
�����	!��'�����
	 =� 7��
��
��'����� C��'A8���!

��� ��
�'� 5�'�8�E 7��'	G��%�� ��=�� 
'> �����
�� 
�<<	=������� 7���!

���7��
�'���> C'����
��� &�
�� ����G��
 �'	���	A 7��=��
�'9���
9 ����

��''����E 7�

��G����%�� ��� �� ����> ��7�'����> � 7�
��
���� � =�F�
�


����� 
�����
�8������ ����
��



�&	��� 	�&�%VLK�G�] %	H���HK�W

:� �� VuU_plRkpRk!fmTpqmmUhE f� W� zgoquE b� �� YugjSpgk YuR hRSlu gt luR

pgTmU PgkvRPl_gk sgkR ii YuR \plUgSurp_PmT �goUkmT� ; :  :� ; 6� �DB� ;

5� #:�;#�D�

�� [� e� egUgklpgvE e� \� }mloU_kE \� \� ymjrmlkr�u [R_pjgTgq_PmT

jRmpoURjRkl gt pgTmU uRT_oj m�okhmkPR ii ^mloUR� ; :  :� ; 6� �# � ;

5� # ;�:�

�� �� �� &''�� &�
��<�=������� ��'����� ii ��@ ���� ; : DD�

#� [� VumSjmk YuRUjmT f_nop_gk mkh luR [lmUp ii bgkluTr ^gl_PRp gt luR

XgrmT \plUgkgj_PmT [gP_Rlr� ; : :D� ; 6� DD� ; 5� �� ;�#$�

�� [� VumSjmk VgkvRPl_gk mkh f_nop_gk w_lu_k z_mkl [lmUp ii bgkluTr

^gl_PRp gt luR XgrmT \plUgkgj_PmT [gP_Rlr� ; : :D� ; 6� DD� ; 5� �#$;

�# �

"� [� VumSjmk f_nop_gk mkh e_pPgp_lr _k z_mkl [lmUp ii bgkluTr ^gl_PRp gt

luR XgrmT \plUgkgj_PmT [gP_Rlr� ; : ��� ; 6� B�� ; 5� � �;� D�

D� \� [� chh_kqlgk YuR |klRUkmT Vgkpl_lol_gk gt luR [lmUp ii ^Rw �gU�@

fgvRU� ; : �"�

B� [� XgppRTmkh \plUgSurp_� mot mlgjluRgURl_pPuRU zUokhTmqR i [lUo�loU hRU

bmlRU_R� ; 6� �� ii }RUT_k@ eRUTmq vgk �oT_op [SU_kqRU� ; : �:�

 � {� }_RUjmkk ���RU h_R eRUlR_Tokq hRU TR_PulRk okh hRU pPuwRURk cTRjRklR

okh hmp RTR�lU_pPuR R̀Th _j |kkRUk hRU [lRUkR ii \plUgkgj_pPuR

^mPuU_PulRk� ; : �D� ; 6� �"�� ; �� :$� ; 5� :B�;: B�

:$� ]� zUmh Wk luR �_kRl_P luRgUr gt UmU_~Rh qmpRpii Vgjjok_Pml_gkp gk yoUR

mkh \SST_Rh bmluRjml_Pp� ; : # � ; 6� �� ; �� #� ; 5� ��:;#$D�

::� �� b� }oUqRUp `Tgw Rxoml_gkp tgU PgjSgp_lR qmpRp ii ^Rw �gU�@ \PmhRj_P� ;

: " �



:: 

:�� {� ]� \TTRUE [� VumSjmk f_nop_gk _k luR [ok ii YuR \plUgSurp_PmT

�goUkmT� ; : "$� ; 6� :��� ; 5� #":;#D��

:�� z� b_Pumoh f_nop_gk yUgPRppRp _k yRPoT_mU \ [lmUp ii YuR \plUgSurp_PmT

�goUkmT� ; : D$� ; 6� :"$� ; 5� "#:;"�B�

:#� z� emoPTm_UE [� emoPTm_UE \� ymj�mlk_�u f_nop_gk yUgPRppRp _k luR ckvRTgSRp

gt bm_k!pRxoRkPR \ [lmUp@ bghRT emU_ml_gkp hoR lg ]RT_oj fRSTRl_gkii

\plUgkgjr mkh \plUgSurp_Pp� ; : D#� ; 6� �:� ; 5� "�;D$�

:�� y� f� ^gRUhT_kqRU f_nop_gk gt ]RT_oj _k luR [ok ii \plUgkgjr mkh

\plUgSurp_Pp� ; : DD� ; 6� �D� ; 5� #$D;#:��

:"� y� f� ^gRUhT_kqRU \olgjml_P VgjSolml_gkp gt f_nop_gk XmlRp ii YuR

\plUgSurp_PmT �goUkmT [oSSTRjRkl [RU_Rp� ; : DB� ; 6� �"� ; 5� �� ;�D��

:D� �� ^� }muPmTTE \� {gR� cTRjRkl h_nop_gk _k plRTTmU _klRU_gUp ii YuR

\plUgSurp_PmT �goUkmT� ; :  $� ; 6� �"$� ; 5� �"D;�D#�

:B� z� b_Pumoh mkh V� X� yUg�ll ymUl_PmT YUmkpSgUl yUgPRppRp i |kp_hR luR

plmUpE |\� VgTTgxo_oj :�DE Rhp� �� �� �R_ppE \� }mqT_k� ; \[y VgktRURkPR

[RU_Rp ii :  �� ; 6� #$� ; 5� �#";�� �

: � \� \� YugoTE �� ^� }muPmTTE \� {gR� cTRjRkl h_nop_gk _k luR pgTmU _klRU_gU

ii YuR \plUgSurp_PmT �goUkmT� ; :  #� ; 6� #�:� ; 5� B�B;B#��

�$� �� ^� }muPmTTE b� ]� y_kpgkkRmoTl ]RT_oj f_nop_gk _k luR [ok YuR

\plUgSurp_PmT �goUkmT� ; :  �� ; 6� � �� ; 5� {:: ;{:���

�:� �� ^� }muPmTTE b� ]� y_kpgkkRmoTl [lmkhmUh pgTmU jghRTpE w_lu mkh w_lugol

uRT_oj h_nop_gkE mkh luR pgTmU kRolU_kg SUg�TRj ii XRv_Rwp gt bghRUk

yurp_Pp� ; :  �� ; 6� "#� ; 5� BB�; �"�

��� �� ^� }muPmTTE b� ]� y_kpgkkRmoTlE z� �� �mppRU�oUq [gTmU bghRTp w_lu

]RT_oj mkh ]Rmvr cTRjRkl f_nop_gk ii XRv_Rwp gt bghRUk yurp_Pp� ;

:  �� ; 6� "D� ; 5� DB:;B$B�



:�$

��� �� VuU_plRkpRk!fmTpqmmUhE �� f�mSSRkE [� e� \�o�gvE c� X� \khRUpgkE

]� b� \kl_mE [� }mpoE e� \� }mloU_kE z� }RUlugj_RoE }� Vum�grRUE

[� b� Vu_lURE \� ^� Vg�E y� fRjmUxoRE �� fgkmlgw_PsE �� \� fs_Rj�gwp�_E

b� zm�U_RTE f� W� zgoquE f� }� zoRkluRUE �� \� zos_�E �� �� ]mUvRrE

`� ]_TTE z� ]gohR�E V� \� |qTRp_mpE \� z� Qgpgv_PuRvE �� �� {R_�mPuRUE

W� bgURTE V� X� yUg�llE �� yUgvgplE �� XR_lRUE c� �� XughRpE `� �� XgqRUpE

|� �� Xg��oUquE b� �� YugjSpgkE X� Q� �TU_Pu YuR PoUURkl plmlR gt pgTmU

jghRT_kq ii [P_RkPR� ; :  "� ; 6� �D�� ; 5� :�B";:� ��

�#� ]� [PuTmllT b_PUgpPgS_P h_nop_gk gt SmUlTr _gk_sRh jRlmTp _k luR [ok mkh

jRlmT!SggU plmUp ii \plUgkgjr mkh \plUgSurp_Pp� ; �$$�� ; 6� � �� ;

5� B�; ��

��� [� emoPTm_U \lgj_P f_nop_gkE b_�_kqE mkh cTRjRkl \�okhmkPRp _k bm_k

[RxoRkPR [lmUp ii \[y VgktRURkPR [RU_Rp� ; �$:#� ;6� #D � ;5� �D;�#�

�"� [� YoUPgllRE �� X_PumUE z� b_PumohE V� \� |qTRp_mpE `� �� XgqRUp Vgkp_plRkl

[gTmU cvgTol_gk bghRT |kPToh_kq f_nop_gk mkh Xmh_ml_vR \PPRTRUml_gk

cnRPlp ii YuR \plUgSurp_PmT �goUkmT� ; :  B� ; 6� �$#� ; 5� �� ;��B�

�D� [� bmluoUE Y� [� bRlPmTtRE b� �g_lmpsR�E ]� }UokllE z� \� eRUkRUE

�� VuU_plRkpRk!fmTpqmmUhE W� {� VURRvRrE z� fg�qmkE [� }mpoE V� QmUgnE

f� [lRTTgE Y� \SSgoUPumo�E Y� {� VmjSmklRE �� �� VumST_kE X� \� zmUP��mE

Y� X� }Rhh_kqE W� }RkgjmUE \� }gkmkkgE [� fRuRovRTpE �� cTpwgUluE

y� zmoTjRE �� \� zos_�E X� ]mkh�RUqE [� ]R��RUE �� ]RUs�RUqE

b� �� y� `� z� bgklR_UgE {� y_moE y�!W� �o_U_gkE V� X�RqoTgE b� XgluE

f� [mTm�RUlE \� [RURkRTT_E b� �� YugjSpgkE X� YUmjSRhmPuE Y� X� �u_lRE

�� }mTTglE |� b� }Umkh�mgE �� bgTRkhm!�m�gw_PsE ]� Q�RThpRkE �� f� Yw_P�RkE

Q� �hh_kE }� �guTRU \ ok_tgUj mplRUgpR_pj_P mkmTrp_p gt �� pgTmU!lrSR plmUp

g�pRUvRh �r QRSTRU ii YuR \plUgSurp_PmT �goUkmT� ; �$:�� ; 6� D# � ;

5� :��;:"��



:�:

�B� �� �� VumST_kE [� }mpoE f� ]o�RUE \� [RURkRTT_E {� VmpmqUmkhRE

e� [_Tvm \qo_UURE �� ]� }mTTE W� {� VURRvRrE {� z_sgkE X� ]mkh�RUqE

V� QmUgnE X� {olsE �� y� bmUxoRpE \� b_qT_gE f� [lRTTgE b� f� [oUmkE

f� yU_PgS_E Y� [� bRlPmTtRE b� �� y� `� z� bgklR_UgE �� bgTRkhm!�m�gw_PsE

Y� \SSgoUPumo�E �� VuU_plRkpRk!fmTpqmmUhE �� cTpwgUluE X� \� zmUP��mE

z� ]gohR�E ]� Q�RThpRkE \� }gkmkkgE Y� {� VmjSmklRE c� VgUpmUgE

y� zmoTjRE [� ]R��RUE [� bmluoUE }� bgppRUE V� X�RqoTgE f� [mTm�RUl

\plRUgpR_pj_P tokhmjRklmT SUgSRUl_Rp gt pgTmU!lrSR plmUp g�pRUvRh �r luR

^\[\ QRSTRU j_pp_gk ii YuR \plUgSurp_PmT �goUkmT [oSSTRjRkl [RU_Rp� ;

�$:#� ; 6� �:$� ; 5� :;���

� � ��!f� hg ^mpP_jRklg �U�E X� \� zmUP��mE [� bmluoUE `� \klugkrE [� \� }mUkRpE

[� bR_�gjE �� [� hm VgplmE b� VmplUgE f� [mTm�RUlE Y� VR_TT_RU Xglml_gk

SRU_ghp mkh mqRp gt pgTmU mkmTgqp mkh pgTmU lw_kp URvRmTRh �r luR QRSTRU

j_pp_gk ii YuR \plUgSurp_PmT �goUkmT {RllRUp� ; �$:#� ; 6� D $� ; 5� {��;

{�D�

�$� �\� ^gUhTokhE X� `� [lR_kE b� \pSTokh [gTmU [oUtmPR VgkvRPl_gk ii {_v_kq

XRv_Rwp _k [gTmU yurp_Pp� ; �$$ � ; 6� "� ; 5� ��

�:� b� \pSTokhE ^� zURvRppRE \� �� [movmTE V� \TTRkhR yU_RlgE f� Q_pRTjmk

{_kR tgUjml_gk _k pgTmU qUmkoTml_gk� |e� MW |NE W | mkh W] T_kRp mkh luR

SuglgpSuRU_P W m�okhmkPR ii \plUgkgjr mkh \plUgSurp_Pp� ; �$$#� ;

6� #:D� ; 5� D�:;D"B�

��� b� \pSTokhE ^� zURvRppRE \� �� [movmT YuR [gTmU VuRj_PmT VgjSgp_l_gk

i |k@ Y� z� }mUkRpE `� ^� }mpu IRhp�J Vgpj_P m�okhmkPRp mp URPgUhp gt

plRTTmU RvgTol_gk mkh koPTRgprkluRp_p�ii \[y VgktRURkPR [RU_Rp� ; �$$�� ;

6� ��"� ; 5� ��;�B�

��� }� ym�lgkE {� }_ThplRkE \� fgllRUE `� ]RUw_qE y� {RpmnURE `� Y_jjRp

bghoTRp tgU R�SRU_jRklp _k plRTTmU mplUgSurp_Pp Ibc[\Jii YuR



:��

\plUgSurp_PmT �goUkmT [oSSTRjRkl [RU_Rp� ; �$::� ; 6� : �� ; mUl_PTR

_h� �� ; �� SS�

�#� &� (� ���%���E �� &� (�
	��� ,�'��
9 
�<<	=������� ����%	
����

7�
 ������
����� =���� 5�'�8� i 5�'�����> � ��'�����!=����> <�=�!

�� ; �$:#E �'����> I�	'������>J ��
�����������> �������
���> H&-

ii 5���
!��
���	��� ;�$:#� ; 5� :$ ;::��

��� WURpu_km \� e�E }mloU_k e� \�E zgUpu�gv \� }� YuR XgTR gt b_�_kq

�RTgw m VgkvRPl_vR �gkR hoU_kq luR cvgTol_gk gt {_lu_oj gk luR [ok ii

zRgjmqkRl_pj mkh \RUgkgjr� ; �$:�� ; 6� ��� ; 5� ::D:;::D#�

�"� 5� �� &A���E �� &� (�
	���E �� �� ��>=���E )� �� )���'������E

&� -� 5
����
��E �� 4� *��
�� &��'�= ��'�? 7������� 
>G�'�? C'�!

���
�� � ��'������ 7'�=�� � 7���F9A 	�������> ���
�>��> [\]\![ ii

���9�� � �/6*� ; �$$#� ; 6� B$� ; 5� :"�;:""�

�D� y� bgURTE �� {R�URlgk Vc[\b@ m tURR PghR tgU plRTTmU RvgTol_gk PmTPoTml_gkp

ii \plUgSurp_Pp mkh [SmPR [P_RkPR� ; �$$B� ; 6� �:"� ; 5� ":;D��

�B� 5� 3�7���E 6� ��	'��� ��
���
������> 
����> ���
����
��? ��=�� ii

��@ )�� ; : "$�

� � 4� �� ��<%�8E �� �� ��
������� *�=������> ����
��� ii ��@ *�=��
!

'�
� ; �$$:�

#$� �� �� �
���� ���8���� 7������� � ��������7����
��� 7'�=�� ii ��@

*�=��
'�
� ; �$$ �

#:� ^ojRU_PmT XRP_SRp _k g̀UlUmk DD@ YuR \Ul gt [P_Rkl_~P VgjSol_kqi

�� ]� yURppE [� \� YRo�gTp�rE �� Y� eRllRUT_kqE }� y� `TmkkRUr� ; �kh Rh�ii

Vmj�U_hqR �k_vRUp_lr yURpp� ; :  ��

#�� (��������� 5� )� .�'���> 7������� � 7'�=��ii � ��� ��7���� 
�����

7'�=��� 6� : i 7�
 ��
� �� &� ����
�����ii ��@ &
���=
�
� ; : "�� ;

��7� :� ;5� :B��



:��

#�� Y� z� VgwT_kq \SSUg�_jmlR luRgU_Rp gt luRUjmT h_nop_gkii �goUkmT gt

yurp_Pp \@ zRkRUmT yurp_Pp ; : D$� ; 6� �� ; 5� DD#;DB��

##� V� \kqoTgE b� \UkgoThE b� XmrRlE y� fRpPgovRjgklE f� }mrRE V� {RPTRUPx!

�_TTm_kE \� VgPE [� }mUugoj_E y� \qoRUE V� XgTtpE X� QoksE �� �� ]mjjRUE

\� bmrRUE Y� ymUmhRTT_pE [� Qgpp_gk_hRpE V� VuUgk_hgoE Q� [SrUgoE

[� hRqT�|kkgPRkl_E z� `_gURkl_k_E }� X_PP_E [� �mvmlmURTT_E V� yUgv_hRkP_mE

]� �gTlRUpE �� [gmURpE V� zUmjmE �� Xmu_qu_E \� [ugllRUE b� {mjRu_ XmPul_

\ PgjS_Tml_gk gt PumUqRh!SmUl_PTR _khoPRh luRUjgkoPTRmU URmPl_gk UmlRp ii

^oPTRmU yurp_Pp \� ; :   � ; 6� "�"� ; 5� �;:B��

#�� [� e� \ro�gvE e� \� }mloU_k {gw!� pgTmU jghRT@ pgokh pSRRh SUg~TR okhRU

luR PgkvRPl_gk sgkR ii �goUkmT gt yurp_Pp@ VgktRURkPR [RU_Rp� ; �$::� ;

6� �D: ; 5� $:�$���

#"� b� �� [Rmlgk WSmP_lr yUg�RPl hmlm gk Vf tgU jRmk gSmP_l_Rp mkh Umh_ml_vR

mPPRTRUml_gkp ii bgkluTr ^gl_PRp gt luR XgrmT \plUgkgj_PmT [gP_Rlr� ;

�$$�� ; 6� �"�� ; 5� {:;{��

#D� [� e� \ro�gvE e� \� }mloU_kE e� Q� zUrmskgvE |� {� |gp_TRvp�rE \� ^� [lmUgpl_k

[gTmU jghRTp op_kq luR [\]\![ Rxoml_gk gt plmlR@ cxoml_gk gt [lmlR

mkh YuRUjghrkmj_P `okPl_gkp gt [gTmU yTmpjm i |k@ cxoml_gk gt [lmlR

mkh yumpR!YUmkp_l_gk _k bghRTp gt WUh_kmUr \plUgSurp_PmT bmllRUii \|y

VgktRURkPR yUgPRRh_kqp ; �$$#� ; 6� D�:� ; 5� :DB;:B"�

#B� `� �� XgqRUpE `� �� [wRkpgkE V� \� |qTRp_mp Wy\{ cxoml_gk gt [lmlR Ym�TRp

tgU \plUgSurp_PmT \SST_Pml_gkp ii YuR \plUgSurp_PmT �goUkmT� ; :  "� ;

6� #�"� ; 5�  $�; $B�

# � V� \� |qTRp_mpE `� �� XgqRUp �ShmlRh Wy\{ WSmP_l_Rp ii YuR \plUgSurp_PmT

�goUkmT� ; :  "� ; 6� #"#� ; 5�  #�; ���



:�#

�$� `� �� XgqRUpE V� \� |qTRp_mp Xmh_ml_vR mlgj_P XgppRTmkh jRmk gSmP_lr lm�TRp

ii \plUgSurp_PmT �goUkmT [oSSTRjRkl [RU_Rp� ; :  �� ; 6� D � ; 5� �$D;

�"B�

�:� `� �� XgqRUpE V� \� |qTRp_mp XgppRTmkh jRmk gSmP_l_Rp tgU vmU_m�TR

PgjSgp_l_gkp ii YuR \plUgSurp_PmT �goUkmT� ; :  �� ; 6� #$:� ; 5� �":;

�""�

��� ^� zURvRppRE \� ^gRTp Vgpj_P m�okhmkPRp gt luR RTRjRklp i |k@ WU_q_k mkh

cvgTol_gk gt luR cTRjRklpE Rh� ^� yUmlsgE c� emkq_gk_!`TmjE b� VmppR ii

Vmj�U_hqR@ Vmj�U_hqR �k_vRUp_lr yURpp� ; :  �� ; 5� :�;���

��� W� ckqvgTh YuR pgTmU PuRj_PmT PgjSgp_l_gk ii yurp_Pm [PU_Slm ; : DD� ;

6� :"� ; 5� #B;�$�

�#� f� }� zoRkluRUE ��!V� Q_jE y� fRjmUxoR [R_pjgTgqr gt luR plmkhmUh pgTmU

jghRT@ lRplp gt h_nop_gk mkh luR Wy\{ mkh luR b]f Rxoml_gkp gt plmlR ii

YuR \plUgSurp_PmT �goUkmT� ; :  "� ; 6� #"�� ; 5� �B�;� $�

��� W� X_PumUhE [� emoPTm_UE V� VumU�gkkRTE �� \� fs_Rj�gwp�_ ^Rw pgTmU

jghRTp _kPToh_kq uRT_gpR_pjgTgq_PmT PgkplUm_klp mkh T_qul!RTRjRkl hRSTRl_gk

ii \plUgkgjr mkh \plUgSurp_Pp� ; :  "� ; 6� �:�� ; 5� :$$$;:$::�

�"� b� zm�U_RTE `� VmUT_RU |k�oRkPR gt urhUgqRk h_nop_gk gk luR pgTmU S!jghR

pSRPlUoj ii \plUgkgjr mkh \plUgSurp_Pp� ; :  D� ; 6� �:D� ; 5� �B$;�B��

�D� �� \� zos_�E `� �� [wRkpgk [R_pjgTgq_PmT PgjSmU_pgkp gt pgTmU jghRTp w_lu

RTRjRkl h_nop_gk op_kq luR b]fE Wy\{E mkh [|Xc`` Rxoml_gkp gt plmlR

ii YuR \plUgSurp_PmT �goUkmT� ; :  D� ; 6� # :� ; 5�  "D; D �

�B� \� [� }UokE [� YoUP�!Vu_RsRE y� bgURT [lmkhmUh pgTmU jghRTp _k luR T_qul

gt kRw uRT_gpR_pj_P PgkplUm_klp� |� YuR pgTmU PgUR ii YuR \plUgSurp_PmT

�goUkmT� ; :  B� ; 6� �$"� ; 5�  :�; ���

� � e� Q� zUrmskgvE [� e� \ro�gvE e� \� }mloU_kE |� {� |gp_TRvp�rE

\� ^� [lmUgpl_kE e� c� g̀Ulgv [\]\![ jghRT@ cxoml_gk gt [lmlR mkh



:��

YuRUjghrkmj_P `okPl_gkp gt [gTmU yTmpjm i |k@ cxoml_gk gt [lmlR mkh

yumpR!YUmkp_l_gk _k bghRTp gt WUh_kmUr \plUgSurp_PmT bmllRUii \|y

VgktRURkPR yUgPRRh_kqp ; �$$#� ; 6� D�:� ; 5� :#D;:":�

"$� (�
	��� ��&�E ���%��� &�(�E &A��� 5��� ��<<	=�����> C��'A8�> ?�!

��������� ���
��� � ��'������ ��
�'�� ii &�
������������ G	���'E

�$$"� ; 6�� B�� 5� :::�O::�D�

":� )� �����G��E �� ���
�7	
� 5���������> 
����
�������� ,
 
�7'���?


����
�'�� 
� 
����7�
����? �
�	�
	� ii ��@ ���� ; �$$��

"�� b� �� [Rmlgk Xmh_ml_vR mPPRTRUml_gkp _k plRTTmU RkvRTgSp ii bgkluTr ^gl_PRp

gt luR XgrmT \plUgkgj_PmT [gP_Rlr� ; :  D� ; 6� �B � ; 5� D$$;D�$�

"�� b� �� [RmlgkE �o �mkE f� b_umTmpE \� Q� yUmhumj WSmP_l_Rp tgU plRTTmU

RkvRTgSp ii bgkluTr ^gl_PRp gt luR XgrmT \plUgkgj_PmT [gP_Rlr� ; :  #� ;

6� �""� ; 5� B$�;B�B�


